Tenenbaum and Woerpel S-1

The Use of an Aminosilyllithium for the Diastereoselective Synthesis of Diphenyl
Oxasilacyclopentane Acetals and Polyols
Jason M. Tenenbaum and K. A. Woerpel*
Department of Chemistry, University of California, Irvine, California 92697

A. Experimental Data S-2
B. GCMS and Spectral Data for Stereochemical Proofs S-17

Experimental Section

General: 'H NMR and “C NMR spectra were recorded at ambient temperature at 400 or
500 MHz, and 100 or 125 MHz, respectively, using a Bruker DRX400 or DRX500
spectrometer. The data are reported as follows: chemical shift in ppm from internal
tetramethylsilane on the d scale, multiplicity (br = broad, s = singlet, d = doublet, t =
triplet, q = quartet, quint = quintet, and m = multiplet), coupling constants in Hz, and
integration. High resolution mass spectra were acquired on a VG Analytical 7070E or
Fisons Autospec spectrometer and were obtained by peak matching. Microanalyses were
performed by Atlantic Microlab, Atlanta, GA. Analytical gas-liquid chromatography
(GLC) was performed on a Hewlett Packard 5890 Level 4 chromatograph equipped with
a split mode injection system and a flame ionization detector. Fused silica capillary
columns (30 m X 0.32 mm) wall-coated with DB-1 (J & W Scientific) were used with
helium as the carrier gas (16 psi column head pressure). GC-MS analyses were
conducted on a Finnigan Trace-MS from 50 °C for 1 min then ramped 10 °C / min to 290
°C. Fused silica capillary columns (30 X 0.32 mm) wall-coated with DB-5 (J&W
Scientific) were used with ammonia as the reagent gas for chemical impact (CI) analysis.
Unless otherwise stated, all reactions were carried out under an atmosphere of nitrogen in
glassware which had been flame-dried under a stream of nitrogen. Air-sensitive
compounds were stored in an Innovative Technologies nitrogen atmosphere drybox.
THF, CH,Cl,, Et,0, and toluene were purified by filtration through activated alumina
according to the method of Grubbs. Hexane, benzene, and BF;°Et,O were purified by

distillation from CaH,. NaH was washed with hexanes and dried under reduced pressure



Tenenbaum and Woerpel S-2

prior to use. Ethyl crotonate, and isobutyraldehyde were purified by distillation over

CaCl,. All other reagents were used as received.

A. Experimental Data

N CO,Et
Ethyl Z-4-methyl-pent-2-eneoate (10). To a cooled (=78 °C) suspension of NaH (0.96
g, 40 mmol, 60% dispersion in oil, washed with hexanes) in 65 mL of THF was added a
cooled (=78 °C) solution of ethyl (di-o-tolylphosphono)acetate® (10 g, 29 mmol) in 50
mL of THF. The reaction mixture was stirred for 15 min at —78 °C. A cooled (=78 °C)
solution of isobutyraldehyde (2.9 mL, 32 mmol) in 29 mL of THF was added to the
reaction mixture. After the mixture was warmed to 0 °C for 2.75 h, 30 mL of ammonium
chloride (saturated aqueous) was added. After the reaction mixture was warmed to 22
°C, the mixture was diluted with 100 mL of H,O and 50 mL of Et,O. The organic layer
was separated, and the aqueous layer was extracted with Et,O (3 x 100 mL). The
combined organic layers were washed with H,O (3 X 200 mL) and brine (3 x 200 mL).
The organic layer was dried over MgSO,, filtered, and concentrated in vacuo to give a
colorless oil as a 90:10 mixture of diastereomers as determined by GCMS-EI. The
resulting oil was purified by flash column chromatography (4:96 EtOAc/hexanes) to give
a single diastereomer of the product as a colorless oil (2.7 g, 66%): '"H NMR (500 MHz,
CDCly) 65.99 (dd, J =114, 10.0, 1H), 5.64 (d, J = 11.5, 1H), 4.16 (q, J = 7.1, 2H), 3.60
(m, 1H), 1.29 (t, J = 7.1, 3H), 1.02 (d, J = 6.6, 6H); "C NMR (125 MHz, CDCl,) & 166.2,
156.8, 117.4, 59.6, 27.5, 22.2, 14.2; HRMS (EI-GCMS) m / z calcd for CgH,,0, (M")
142.0994, found 142.0995.

SiPh,OH
CO,Et

£Pr
Ethyl 4-methyl-3-(diphenylsilanol)pentanoate (8). To a solution of
chloro(diethylamino)diphenylsilane’ (2.0 g, 6.9 mmol) in 28 mL of THF was added Li°
wire (0.39 g, 56 mmol, 0.5 to 1.0% Na®° content) cut into small pieces (<5 mm). The

suspension was cooled to 0 °C and stirred vigorously for 3 h to give a solution of



Tenenbaum and Woerpel S-3

(diethylamino)diphenylsilyllithium 5.* The cooled (0 °C) solution of the silyllithium was
added to a cooled (=78 °C) solution of Me,Zn (3.4 mL, 6.9 mmol, 2.0 M in toluene) in 46
mL of THF. The solution was warmed to 0 °C for 5 min and then re-cooled to —78 °C.
To a separate flask, MeLi (0.49 mL, 0.69 mmol, 1.4 M in Et,0O) was added to a cooled
(=78 °C) suspension of CuCN (0.034 g, 0.38 mmol) in 8.5 mL of THF. The suspension
was warmed to —30 °C, stirred for 5 min, cooled to —78 °C, and stirred for 5 min. The
cuprate solution was added to the zincate solution, and the mixture was stirred at —78 °C
for 10 min. To the reaction solution was added a cooled (—78 °C) solution of enoate 7
(0.93 g, 6.6 mmol) in 3.9 mL of THF. After 2 h at —78 °C, 15 mL of ammonium chloride
(saturated aqueous) was added, and the mixture was warmed to 22 °C. The mixture was
diluted with 100 mL of H,O and 100 mL of Et,O. The organic layer was separated and
the aqueous layer was extracted with Et,O (3 X 100 mL). The combined organic layers
were dried with MgSO,, filtered, and concentrated in vacuo. The resulting oil was
purified by flash column chromatography (3:97 to 10:90 EtOAc/hexanes) to give the
product as a white solid (1.5 g, 68%): "H NMR (500 MHz, CDCl,) § 7.69 (m, 2H), 7.64
(m, 2H), 7.36 (m, 6H), 3.99 (dq, J=7.1, 2.2, 2H), 3.59 (br s, 1H), 2.59 (dd, J = 16.6, 6.2,
1H), 2.44 (dd, J = 16.6, 5.7, 1H), 2.06 (tt,J = 11.8, 6.8, 1H), 1.67 (dd, J = 10.8, 5.8, 1H),
1.17 (t,J =7.1,3H), 0.93 (d, J = 6.8, 3H), 0.85 (d, J = 6.8, 3H); "C NMR (125 MHz,
CDCly) 6 175.6, 136.6, 136.1, 134.3, 134.1, 129.53, 129.47, 127.8, 60.7, 31.2, 29.3, 27.8,
23.3,20.8, 14.0; IR (thin film): 3462, 3070, 2960, 1711, 1590, 856 cm™; HRMS
(CI+/NH;) m / z caled for C,,H,0,Si (M-H)" 341.1573, found 341.1563. Anal. Calcd for
C,,H,O,Si: C, 70.13; H, 7.65. Found: C, 70.21; H, 7.64.

SiPh,F
CO,Et

£Pr
Ethyl 4-methyl-3-(fluorodiphenylsilyl)pentanoate (9). One step formation from silanol
8: To a cooled (=78 °C) solution of ester 8 (1.4 g, 4.1 mmol) in 27 mL of CH,CI, was
added BF;*OEt, (0.62 mL, 4.9 mmol). After the solution was stirred for 15 min at —78

°C, 10 mL of sodium bicarbonate (saturated aqueous) was added. The mixture was



Tenenbaum and Woerpel S-4

diluted with 50 mL of H,O. The organic layer was separated, and the aqueous layer was
extracted with CH,Cl, (3 X 40 mL). The combined organic layers were dried over
Na,SO,, filtered, and concentrated in vacuo. The resulting oil was purified by flash
column chromatography (1:99 EtOAc/hexanes) to give the product as a colorless oil (1.1
g, 78%). Two step formation from enoate 7: To a solution of
chloro(diethylamino)diphenylsilane’ (2.0 g, 6.9 mmol) in 28 mL of THF was added Li°
wire (0.38 g, 55 mmol, 0.5 to 1.0% Na®° content) cut into small pieces (<5 mm). The
suspension was cooled to 0 °C and stirred vigorously for 3 h to give a solution of
(diethylamino)diphenylsilyllithium 5.* The cooled (0 °C) solution of the silyllithium was
added to a cooled (=78 °C) solution of Me,Zn (3.4 mL, 6.9 mmol, 2.0 M in toluene) in 46
mL of THF. The solution was warmed to 0 °C for 5 min and then re-cooled to —78 °C.
To a separate flask, MeLi (0.49 mL, 0.69 mmol, 1.4 M in Et,0O) was added to a cooled
(=78 °C) suspension of CuCN (0.030 g, 0.33 mmol) in 8.5 mL of THF. The suspension
was warmed to —30 °C, stirred for 5 min, cooled to —78 °C, and stirred for 5 min. The
cuprate solution was added to the zincate solution, and the mixture was stirred at —78 °C
for 10 min. To the reaction solution was added a cooled (—78 °C) solution of enoate 7
(0.93 g, 6.5 mmol) in 4 mL of THF. After 6 h at —78 °C, 15 mL of ammonium chloride
(saturated aqueous) was added, and the mixture was warmed to 22 °C. The mixture was
diluted with 100 mL of H,O and 100 mL of Et,0. The organic layer was separated and
the aqueous layer was extracted with Et,O (3 X 100 mL). The combined organic layers
were dried with MgSO,, filtered, and concentrated in vacuo. The resulting oil was
dissolved in 46 mL of CH,Cl, and cooled to —78 °C. BF;*OEt, (1.1 mL, 8.7 mmol) was
added to the cooled solution. After the solution was stirred for 15 min at —78 °C, 10 mL
of sodium bicarbonate (saturated aqueous) was added. The mixture was diluted with 50
mL of H,O. The organic layer was separated, and the aqueous layer was extracted with
CH,CI, (3 x40 mL). The combined organic layers were dried over Na,SO,, filtered, and

concentrated in vacuo. The resulting oil was purified by flash column chromatography



Tenenbaum and Woerpel S-5

(0.5:99.5 to 1:99 EtOAc/hexanes) to give the product as a colorless oil (1.5 g, 68% over
two steps): 'H NMR (500 MHz, CDCl,) 8 7.68 (m, 2H), 7.64 (m, 2H), 7.41 (m, 6H), 3.94
(m, 2H), 2.46 (m, 2H), 2.04 (m, 2H), 1.14 (t, J=7.1,3H), 0.97 (d, J = 6.6, 3H), 0.92 (d, J
= 6.6, 3H); "C NMR (125 MHz, CDCl,) § 173.9, 134.3 (d, J = 2.5), 134.2 (d, J = 2.5),
133.4 (d, J=15.0), 133.1 (d, J = 15.0), 130.4, 130.3, 128.02, 127.95, 60.4, 31.2, 28.6 (d,
J=13.8),28.3,22.5,21.1, 14.0; IR (thin film): 3051, 2960, 1731, 1591, 1429, 841 cm';
HRMS (CI+/NH,) m / z caled for C,,H,,FO,Si (M-H)" 343.1530, found 343.1524.

SiPh,F
CO,Et

iPr
Ethyl 4-methyl-3-(fluorodiphenylsilyl)pentanoate (9). To a solution of
chloro(diethylamino)diphenylsilane’ (2.4 g, 8.3 mmol) in 30 mL of THF was added Li°
wire (0.40 g, 58 mmol, 0.5 to 1.0% Na®° content) cut into small pieces (<5 mm). The
suspension was cooled to 0 °C and stirred vigorously for 3 h to give a solution of
(diethylamino)diphenylsilyllithium 5.* The cooled (0 °C) solution of the silyllithium was
added to a cooled (=78 °C) solution of Me,Zn (3.9 mL, 7.8 mmol, 2.0 M in toluene) in 50
mL of THF. The solution was warmed to 0 °C for 5 min and then re-cooled to —78 °C.
To a separate flask, MeLi (0.56 mL, 0.78 mmol, 1.4 M in Et,0O) was added to a cooled
(=78 °C) suspension of CuCN (0.032 g, 0.36 mmol) in 10 mL of THF. The suspension
was warmed to —30 °C, stirred for 5 min, cooled to —78 °C, and stirred for 5 min. The
cuprate solution was added to the zincate solution, and the mixture was stirred at —78 °C
for 10 min. To the reaction solution was added a cooled (—78 °C) solution of enoate 10
(1.0 g, 7.0 mmol) in 4 mL of THF. After 6 h at —78 °C, 15 mL of ammonium chloride
(saturated aqueous) was added, and the mixture was warmed to 22 °C. The mixture was
diluted with 100 mL of H,O and 100 mL of Et,0. The organic layer was separated and
the aqueous layer was extracted with Et,O (3 X 100 mL). The combined organic layers
were dried with MgSO,, filtered, and concentrated in vacuo. The resulting oil was
dissolved in 50 mL of CH,Cl, and cooled to =78 °C. BF;*OEt, (1.1 mL, 8.7 mmol) was

added to the cooled solution. After the solution was stirred for 15 min at —78 °C, 10 mL



Tenenbaum and Woerpel S-6

of sodium bicarbonate (saturated aqueous) was added. The mixture was diluted with 50
mL of H,O. The organic layer was separated, and the aqueous layer was extracted with
CH,CI, (3 x40 mL). The combined organic layers were dried over Na,SO,, filtered, and
concentrated in vacuo. The resulting oil was purified by flash column chromatography
(1:99 EtOAc/hexanes) to give the product as a colorless oil (1.5 g, 63% over two steps):
'H NMR (500 MHz, CDCl,) § 7.68 (m, 2H), 7.64 (m, 2H), 7.41 (m, 6H), 3.94 (m, 2H),
2.46 (m, 2H), 2.04 (m, 2H), 1.14 (t,J=7.1,3H), 0.97 (d, J = 6.6, 3H), 092 (d, /= 6.5,
3H); "C NMR (125 MHz, CDCl,) § 173.9, 134.3 (d, J = 2.5), 134.2 (d, J = 2.5), 133.4 (d,
J=15.0), 133.0 (d, J =15.0), 130.4, 130.3, 128.03, 127.95, 60.4, 31.2, 28.6 (d, J = 13.0),
28.3,22.5,21.9, 14.0; HRMS (CI+/NH;) m / z calcd for C,,H,,FO,Si (M-H)" 343.1530,
found 343.1523.

OBn SiPh,F

. COLEt

CHa
Ethyl (3R*,45*,5R*)-5-benzyloxy-3-(fluorodiphenylsilyl)-4,6-dimethylheptanoate
(12). To a solution of chloro(diethylamino)diphenylsilane® (2.8 g, 9.6 mmol) in 36 mL of
THF was added Li° wire (0.54 g, 78 mmol, 0.5 to 1.0% Na® content) cut into small pieces
(<5 mm). The suspension was cooled to 0 °C and stirred vigorously for 3 h to give a
solution of (diethylamino)diphenylsilyllithium 5.* The cooled (0 °C) solution of the
silyllithium was added to a cooled (=78 °C) solution of Me,Zn (4.8 mL, 9.6 mmol, 2.0 M
in toluene) in 64 mL of THF. The solution was warmed to 0 °C for 5 min and then re-
cooled to —78 °C. To a separate flask, MeLi (0.68 mL, 0.96 mmol, 1.4 M in Et,0) was
added to a cooled (—78 °C) suspension of CuCN (0.042 g, 0.47 mmol) in 12 mL of THF.
The suspension was warmed to —30 °C, stirred for 5 min, cooled to —78 °C, and stirred
for 5 min. The cuprate solution was added to the zincate solution, and the mixture was
stirred at —78 °C for 10 min. To the reaction solution was added a cooled (=78 °C)
solution of ethyl enoate 11° (2.5 g, 8.6 mmol) in 5 mL of THF. After 1 h at —78 °C, 15

mL of ammonium chloride (saturated aqueous) was added, and the mixture was warmed



Tenenbaum and Woerpel S-7

to 22 °C. The mixture was diluted with 100 mL of 9:1 ammonium chloride/ammonium
hydroxide and 100 mL of Et,0. The organic layer was separated and the aqueous layer
was extracted with Et,O (3 x 100 mL). The combined organic layers were dried with
MgSO,, filtered, and concentrated in vacuo. The resulting oil was re-dissolved in 57 mL
of CH,Cl, and cooled to =78 °C. BF;*OEt, (1.3 mL, 10 mmol) was added to the cooled
solution. After the solution was stirred for 10 min at —78 °C, 10 mL of sodium
bicarbonate (saturated aqueous) was added. The mixture was diluted with 50 mL of H,O.
The organic layer was separated, and the aqueous layer was extracted with CH,Cl, (3 x
40 mL). The combined organic layers were dried over Na,SO,, filtered, and concentrated
in vacuo to give a pale yellow oil as a 99:1 mixture of diastereomers as determined by
GCMS-EI. The resulting oil was purified by flash column chromatography (0.5:99.5 to
2:98 EtOAc/hexanes) to give the product as a pale yellow oil (3.2 g, 76% over two steps):
'H NMR (500 MHz, CDCl,) 6 7.67 (dd, J = 7.9, 1.4, 4H), 7.40 (m, 7H), 7.31 (m, 4H),
456 (d,J=11.2,1H),4.53 (d,J=11.2, 1H), 3.87 (dq, J =10.8, 7.2, 1H), 3.79 (dq, J =
10.8,7.2, 1H), 3.12, (dd, J = 6.3, 4.5, 1H), 2.62 (dd, J = 16.6, 5.5, 1H), 2.52 (dd, J = 16.6,
7.7, 1H), 2.17 (m, 2H), 2.00 (ddt, J = 13.8, 6.8, 4.5, 1H), 1.08 (t, /=7.1, 3H), 0.98 (d, J =
6.8, 3H), 0.89 (d, J = 6.8, 3H), 0.81 (d, J = 6.7, 3H); "C NMR (125 MHz, CDCl,)
0173.9,139.1,135.5(d, J=36.3), 134.3 (d, J =2.5), 134.1 (d, J = 2.5), 132.8 (d, J =
15.0), 132.5(d, J =16.3), 130.4 (d, J = 13.8), 128.2, 128.1, 127.9, 127.3, 127.2, 88.6,
75.0, 60.3, 33.8, 30.5, 30.0, 24.8 (d, J = 13), 20.3, 16.8, 13.9, 13.1; IR (thin film): 3052,
2965, 1731, 1590, 1429, 1119 cm™'; HRMS (CI+/NH,) m / z caled for C;,H;,0,Si (M-F)*
473.2512, found 473.2494. Anal. Calcd for C,,H;,FO,Si: C, 73.13; H, 7.57. Found: C,
72.97; H, 7.62.

SiPhoF
spr ~COZE
CHg
(25*,3R*)-Ethyl 2,4-dimethyl-3-(fluorodiphenylsilyl)pentanoate (13). To a cooled

(=78 °C) solution of i-Pr,NH (0.36 mL, 2.6 mmol) in 2.5 mL of THF was added n-BuLi



Tenenbaum and Woerpel S-8

(1.2 mL, 2.4 mmol, 2.0 M in hexanes). After the solution was stirred at 0 °C for 30 min,
it was re-cooled to —78 °C. To the reaction solution was added a cooled (-78 °C)
solution of B-fluorosilyl ester 9 (0.70 g, 2.0 mmol) in 10 mL of THF and DMPU (1.2 mL,
10 mmol). After the reaction solution was stirred at =78 °C for 1 h, CH,I (0.25 mL, 4.0
mmol) was added. After the reaction solution was stirred at —78 °C for 2 h, 4 mL of
ammonium chloride (saturated aqueous) was added. The mixture was diluted with 50 mL.
of H,O and 50 mL of MTBE. The organic layer was separated, and the aqueous layer
was extracted with MTBE (3 x 50 mL). The combined organic layers were washed with
H,0O (4 x 50 mL) and brine (4 x 50 mL). The organic layer was dried over Na,SO,,
filtered, and concentrated in vacuo to give a colorless oil as a 90:10 mixture of
diastereomers as determined by GCMS-EI. The oil was purified by flash column
chromatography (20:80 CH,Cl,/hexanes) to give a single diastereomer of the product as a
colorless oil (0.46 g, 65%): '"H NMR (500 MHz, CDCl,) 8 7.78 (dd, J = 7.7, 1.6, 2H),
7.69 (dd, J = 8.0, 1.5, 2H), 7.39 (m, 6H), 4.00 (dq, J = 10.8, 7.1, 1H), 3.91 (dq, J = 10.8,
7.1, 1H), 2.76 (m, 1H), 2.16 (dq, J = 13.6, 6.8, 1H), 1.86 (dt, J=9.2,5.0, 1H), 1.15 (t, J =
7.1,3Hand d, J = 7.3, 3H), 1.03 (d, J = 6.8, 3H), 0.89 (d, J = 6.9, 3H); "C NMR (125
MHz, CDCly) 8 177.6, 134.7 (d, J =2.5), 134.4 (d, J =2.5), 130.0 (d, J = 6.3), 127.8 (d, J
=10.0), 60.7, 38.6, 36.8 (d, J = 13.6), 27.2,22.7, 22.4, 16.8, 14.0; IR (thin film): 3071,
2978, 1721, 1590, 1117, 700 cm™'; HRMS (CI+/NH;) m / z caled for C,,H,(FO,Si (M-H)*
357.1686, found 357.1679. Anal. Calcd for C,,H,,FO,Si: C, 70.35; H, 7.59. Found: C,
70.39; H, 7.64.

Ph,Si-0
iPr OEt

1-Oxa-3-(1-methylethyl)-5-ethoxy-2,2-(diphenyl)silacyclopentane (14). To a solution
of B-fluorosilyl ester 9 (0.39 g, 1.1 mmol) and LiBH, (1.6 mL, 3.2 mmol, 2.0 M in THF)

in 4.5 mL of Et,0 was added MeOH (0.13 mL, 3.2 mmol) dropwise. After 15 h at 22 °C,
the solution was cooled to 0 °C, and 1 mL of ammonium chloride (saturated aqueous)

was added dropwise. The solution was diluted with 50 mL of H,O and 50 mL of CH,CL,.



Tenenbaum and Woerpel S-9

The organic layer was separated, and the aqueous layer was extracted with CH,Cl, (3 x
60 mL). The combined organic layers were dried over Na,SO,, filtered, and concentrated
in vacuo to give a colorless oil as a 56:44 mixture of diastereomers as determined by
GCMS-EI. The oil was purified by flash column chromatography (0.5:99.5
EtOAc/hexanes) to give the product as a colorless oil (0.31 g, 86%). The product was
characterized as a mixture of diastereomers: 'H NMR (500 MHz, CDCl,) 8 7.72 (m,
3.6H), 7.68 (m, 2.7H), 7.59 (m, 2.7H), 7.41 (m, 13H), 5.43 (d, J=3.9, 1H), 5.23 (dd, J =
7.7,4.3,0.7H), 4.02 (m, 0.8H), 3.70 (dq, J =9.5, 7.1, 1H), 3.60 (dq, J = 9.6, 7.0, 0.8H),
3.44 (dq, J =9.6, 7.1, 1H), 2.46 (m, 1.3H), 2.34 (dd, /= 11.6, 6.3, 1H), 1.75 (m, 2.9H),
1.49 (m, 2.2H), 1.29 (t, J = 7.1, 2.6H), 1.06 (t, J = 7.1, 3H), 0.93 (m, 12H); "C NMR
(125 MHz, CDCl,) 8 135.6, 135.3, 134.91, 134.89, 130.2, 130.1, 130.05, 130.02, 127.9,
127.74, 127.69, 102.6, 101.7, 64.0, 62.3, 38.5, 37.8, 33.1, 30.6, 29.2, 25.1, 24.9, 23.1,
23.0, 15.3, 14.9; IR (thin film): 3071, 2955, 1729, 1590, 1429, 1118 cm™; HRMS
(CI+/NH;) m / z caled for C,,H,50,Si (M-H)" 325.1624, found 325.1620. Anal. Calcd for
C,,H,0,Si: C, 73.57; H, 8.03. Found: C, 73.68; H, 7.85.

PhySi-0
iPr OEt

1-Oxa-3-(1-methylethyl)-5-ethoxy-2,2-(diphenyl)silacyclopentane (14). To a cooled
(=78 °C) solution of B-fluorosilyl ester 9 (0.39 g, 1.1 mmol) in 9 mL of CH,CIl, was
added i-Bu,AlH (0.73 mL, 1.1 mmol, 1.5 M in toluene). After 3 h at —78 °C, 1 mL of
EtOH was added. After 2 h at 22 °C, the mixture was diluted with 20 mL of sodium
potassium tartrate (saturated aqueous), 50 mL of H,0O, and 50 mL of CH,Cl,. The
organic layer was separated, and the aqueous layer was extracted with CH,Cl, (3 x 40
mL). The combined organic layers were dried over Na,SO,, filtered, and concentrated in
vacuo to give a colorless oil as a 62:38 mixture of diastereomers as determined by
GCMS-EI. The oil was purified by flash column chromatography (0.5:99.5
EtOAc/hexanes) to give the product as a colorless oil (0.35g, 97%). The product was

characterized as a mixture of diastereomers: 'H NMR (500 MHz, CDCI,) 8 7.72 (m, 3H),



Tenenbaum and Woerpel S-10

7.65 (m, 2.3H), 7.59 (m, 2.7H), 7.41 (m, 12H), 5.43 (d, J =4.0, 1H), 5.23 (dd, J =7.7,
4.3, 0.5H), 4.02 (dq, J =9.6, 7.1, 0.5H), 3.69 (dq, J = 9.6, 7.1, 1H), 3.60 (dq, J = 9.6, 7.0,
0.5H), 3.44 (dq, / =9.6, 7.0, 1H), 2.46 (m, 1H), 2.34 (dd, /= 11.8, 6.5, 1H), 1.75 (m,
2.7H), 1.50 (m, 2.3H), 1.29 (t, J = 7.1, 1.6H), 1.05 (t, J = 7.1, 3H), 0.93 (m, 9H); °C
NMR (125 MHz, CDCl,) 6 135.5, 135.3, 134.96, 134.94, 130.3, 130.12, 130.09, 130.05,
128.0, 127.8, 127.7, 102.6, 101.8, 64.1, 62.3, 38.6, 37.9, 33.2, 30.7, 29.2, 25.1, 24.9, 23.1,
23.0, 15.3, 15.0; IR (thin film): 3069, 2954, 1728, 1589, 1428, 1118 cm™; HRMS
(CI+/NH;) m / z caled for C,,H,50,Si (M-H)" 325.1624, found 325.1628. Anal. Calcd for
C,,H,0,Si: C, 73.57; H, 8.03. Found: C, 73.73; H, 7.96.
PhoSi-O
FPr=N " OFt
CHa
(3R*,45%)-1-Oxa-3-(1-methylethyl)-5-ethoxy-4-methyl-2,2-
(diphenyl)silacyclopentane (15). To a solution of B-fluorosilyl ester 13 (0.55 g, 1.5
mmol) and LiBH, (2.4 mL, 4.8 mmol, 2.0 M in THF) in 6.5 mL of Et,0 was added
MeOH (0.19 mL, 4.8 mmol) dropwise. After 15 h at 22 °C, the solution was cooled to 0
°C, and 2 mL of ammonium chloride (saturated aqueous) was added dropwise. The
solution was diluted with 50 mL of H,O and 50 mL of Et,0. The organic layer was
separated, and the aqueous layer was extracted with Et,O (3 X 50 mL). The combined
organic layers were dried over MgSQO,, filtered, and concentrated in vacuo to give a
colorless oil as a 60:40 mixture of diastereomers as determined by GCMS-EI. The oil
was purified by flash column chromatography (0.5:99.5 EtOAc/hexanes) to give the
product as a colorless oil (0.47 g, 87%). The product was characterized as a mixture of
diastereomers: 'H NMR (500 MHz, CDCI,) 8 7.73 (m, 3.8H), 7.67 (m, 2H), 7.62 (m, 2H),
7.40 (m, 12H), 5.16 (d, J =4.2,0.65H), 4.78 (d, J = 6.0, 1H), 4.01 (dq, J =9.7, 7.1, 1H),
3.60 (m, 1.7H), 3.37 (dq, J = 9.6, 7.0, 0.64H), 2.19 (m, 0.65H), 2.11 (m, 1H), 1.87 (m,
2H), 1.70 (dd, J =12.2,7.0, 0.67H), 1.30 (t, /= 7.1, 3H and m, 1.35H), 1.12 (d, /= 6.7,
3Hand d,J=6.6,2.1H), 1.02 (d,J=5.3 H), 0.97 (t, J=7.1, 3H), 0.62 (t,/ = 6.9, 5.1 H);



Tenenbaum and Woerpel S-11

“C NMR (125 MHz, CDCl,) 8 135.8, 135.7, 135.0, 134.8, 130.1, 130.0, 129.9, 127.9,
127.7,127.6, 108.4, 104.6, 64.3, 62.5, 42.9, 42.0, 40.3, 36.4, 27.6, 26.9, 24.6, 24.3, 22.0,
21.3,18.3,15.3, 15.2, 14.8; IR (thin film): 3050, 2959, 1429, 1116, 982, 701 cm";
HRMS (CI+/NH,) m / z caled for C,H,,0,Si (M-H)" 339.1780, found 339.1772. Anal.
Calcd for C,,H,;0,Si: C, 74.07; H, 8.29. Found: C, 74.35; H, 8.36.

BnQ Ph,Si-Q

£Pr OEt
CHg

(3R*)-1-Oxa-3-[(15*,2R*)-2-benzyloxy-1,3-dimethylbutyl]-5-ethoxy-2,2-
(diphenyl)silacyclopentane (16). To a solution of B-fluorosilyl ester 12 (1.0 g, 2.0
mmol) and LiBH, (3.0 mL, 6.0 mmol, 2.0 M in THF) in 8 mL of Et,O was added MeOH
(0.24 mL, 6.0 mmol) dropwise. After 15 h at 22 °C, the solution was cooled to 0 °C, and
2 mL of ammonium chloride (saturated aqueous) was added dropwise. The solution was
diluted with 50 mL of H,O and 50 mL of CH,Cl,. The organic layer was separated, and
the aqueous layer was extracted with CH,Cl, (3 x 50 mL). The combined organic layers
were dried over MgSO,, filtered, and concentrated in vacuo to give a pale yellow oil as a
56:44 mixture of diastereomers as determined by GCMS-EI. The oil was purified by
flash column chromatography (0.5:99.5 EtOAc/hexanes) to give the product as a pale
yellow oil (0.66 g, 70%). The product was characterized as a mixture of diastereomers:
'H NMR (500 MHz, CDCl,) 6 7.73 (m, 7H), 7.44 (m, 7H), 7.32 (m, 7H), 7.22 (m, 5H),
543 (d,J=4.3,1H),5.26 (dd,J=6.7,4.3,0.5H),4.41 (d,J=11.8,0.5H),4.31 (d, J =
11.7,1H),4.19(d,J=11.7, 1Hand d, /= 11.8, 0.5H), 4.02 (dq, J = 9.6, 7.1, 0.5H), 3.61
(m, 1.5H), 3.40 (dq, / =9.6, 7.1, 1H), 2.90 (dd, J = 7.8, 1.9, 1H), 2.87 (dd, J = 7.7, 2.0,
0.5H), 2.36 (m, 2.5H), 2.00 (m, 0.5H), 1.76 (m, 5H), 1.29 (t, J =7.1, 1.5H), 1.06 (¢, J =
7.1,3H),092 (d,J=6.8,3Hand d, J=6.7, 1.5H), 0.78 (d,J=6.7,3Hand d, J = 6.7,
1.5H), 0.52 (d, J = 6.9, 1.5H), 0.45 (d, J = 6.9, 3H); "C NMR (125 MHz, CDCl;) § 139.5,
139.4, 135.8, 135.7, 135.5, 135.01, 134.99, 134.1, 134.0, 132.8, 132.1, 130.4, 130.31,
130.27, 130.2, 128.1, 128.0, 127.90, 127.85, 127.79, 126.93, 126.86, 126.6, 126.5, 102.5,



Tenenbaum and Woerpel S-12

101.6, 89.8, 89.5, 74.0, 73.8, 63.9, 62.3, 38.6, 37.2, 36.6, 36.0, 31.7, 31.5, 28.4, 26.4,
19.62, 19.59, 19.4, 19.3, 15.3, 14.9, 13.49, 13.46; IR (thin film): 3070, 2970, 1590, 1428,
1119, 699 cm’'; HRMS (CI+/NH,) m / 7 caled for Cy,Hy,05Si (M-H)* 473.2512, found
473.2494.

Ph,Si—-O Ph,Si-O OH OH

£Pr OEt £Pr T

7-Methyl-1-octene-4,6-diol (18).° To a cooled (=78 °C) solution of acetal 14 (0.54 g, 1.6

£Pr =

mmol) and allyltrimethylsilane (0.51 mL, 3.2 mmol) in 50 mL of CH,Cl, was added
BF,*OEt, (0.20 mL, 1.6 mmol). After the reaction mixture was warmed to 0 °C for 3 h,
10 mL of sodium bicarbonate (saturated aqueous) was added. The mixture was diluted
with 50 mL of H,O. The organic layer was separated, and the aqueous layer was
extracted with CH,Cl, (3 X 50 mL). The combined organic layers were dried over
Na,SO,, filtered, and concentrated in vacuo to give oxasilacyclopentane 17 as a 99:1
mixture of diastereomers as determined by GCMS-EI. The oil was dissolved in 7 mL of
1:1 THF/MeOH. To the solution was added KF (0.16 g, 2.8 mmol), KHCO, (0.28 g, 2.8
mmol), and H,0, (2.9 mL, 28 mmol, 30 % by weight in H,0). The reaction mixture was
heated to reflux for 1 h. After the mixture was cooled to 22 °C, solid Na,S,0, (0.1 g) was
added. After the mixture was stirred for 1 h, it was filtered through Celite, and the filtrate
was washed with Et,O (3 X 25 mL). The solution was concentrated in vacuo. The
resulting oil was purified by flash column chromatography (10:90 to 20:90
EtOAc/hexanes) to give the product as a colorless oil (0.14 g, 56% over two steps): 'H
NMR (500 MHz, CDCl,) 6 5.83 (m, 1H), 5.15 (m, 2H), 4.00 (qd, J = 7.7, 3.2, 1H), 3.68
(ddd, J =8.8, 6.1, 2.5, 1H), 2.29 (m, 3H), 2.22 (br s, 1H), 1.69 (m, 2H), 1.60 (m, 1H),
0.95(d, J=6.7,3H), 0.91 (d, J = 6.8, 3H); "C NMR (125 MHz, CDCl,) 6 134.7, 118.1,
73.8, 68.3, 42.0, 38.9, 33.8, 18.6, 17.9; HRMS (CI+/NH,) m / z calcd for C,H,,0, (M+H)"
159.1385, found 159.1388.



Tenenbaum and Woerpel S-13

PhsSi-0O PhsSi—O OH OH

E—

i7" "ORt PN APy \
CHs CHs CHs

(4R*,55*,6R*)-5,7-Dimethyl-1-octene-4,6-diol (20). To a cooled (—78 °C) solution of
acetal 15 (0.45 g, 1.3 mmol) and allyltrimethylsilane (0.44 mL, 2.8 mmol) in 45 mL of
CH,CIl, was added BF;*OEFt, (0.18 mL, 1.4 mmol). After the reaction mixture was
warmed to 0 °C for 3 h, 10 mL of sodium bicarbonate (saturated aqueous) was added.
The mixture was diluted with 50 mL of H,O. The organic layer was separated, and the
aqueous layer was extracted with CH,Cl, (3 X 50 mL). The combined organic layers
were dried over Na,SO,, filtered, and concentrated in vacuo to give oxasilacyclopentane
19 as a colorless oil as a 91:9 mixture of diastereomers as determined by GCMS-EI. The
oil was purifed by flash column chromatography (20:80 CH,Cl,/hexanes) to give
oxasilacyclopentane 19 as a colorless oil (0.27 g, 63%). The oil (0.27 g, 0.80 mmol) was
dissolved in 4 mL of 1:1 THF/MeOH. To the solution was added KF (0.093 g, 1.6
mmol), KHCO; (0.16 g, 1.6 mmol), and H,0O, (1.6 mL, 16 mmol, 30 % by weight in
H,0). The reaction mixture was heated to reflux for 1.5 h. After the mixture was cooled
to 22 °C, solid Na,S,0; (0.1 g) was added. After the mixture was stirred for 1 h, it was
filtered through Celite, and the filtrate was washed with Et,O (3 X 25 mL). The solution
was concentrated in vacuo. The resulting oil was purified by flash column
chromatography (10:90 EtOAc/hexanes) to give the product as a colorless oil (0.080 g,
62%): 'H NMR (500 MHz, CDCl,) 8 5.82 (ddt, J = 17.1, 10.2, 6.9, 1H), 5.13 (m, 2H),
3.99 (m, 1H), 3.33 (dd, J = 10.5, 5.7, 1H), 2.64 (m, 2H), 2.30 (m, 1H), 2.22 (m, 1H), 1.83
(dq, J=13.3, 6.7, 2H), 0.97 (d, J = 6.9, 6H), 0.91 (d, J = 6.8, 3H); °C NMR (125 MHz,
CDCly) 6 135.3, 117.5, 80.7, 71.6, 38.6, 37.5, 30.7, 19.5, 17.2, 11.3; IR (thin film): 3357,
2965, 1642, 1462, 1081, 913 cm™'; HRMS (CI+/NH;) m / z caled for C,H,,0, (M+H)*
173.1541, found 173.1545.



Tenenbaum and Woerpel S-14

NO,

o/j\o:

CHs
(2R*,4R*,55%,6R*)-4-Allyl-5-methyl-6-(1-methylethyl)-2-(4-nitrophenyl)-1,3-
dioxane. A flask fitted with a Dean-Stark trap and reflux condenser was charged with
diol 20 (0.070 g, 0.41 mmol) and 4-nitrobenzaldehyde (0.088 g, 0.58 mmol) in 20 mL of
benzene. CSA (<0.010 g) was added and the solution was heated to reflux for 15 h. The
solution was cooled to 22 °C and a few drops of Et;N were added. The solution was
concentrated in vacuo to afford a yellow oil as a 70:30 mixture of diastereomers. The
resulting oil was purified by flash column chromatography (hexanes to 0.5:99.5
EtOAc/hexanes) to give the product as a yellow oil (0.11 g, 92%): '"H NMR (500 MHz,
CDCl,) major diastereomer:d 8.21 (d, J = 8.7, 2H), 7.68 (d, J = 8.8, 2H), 5.83 (m, 1H),
5.76 (s, 1H), 5.17 (m, 2H), 4.12 (ddd, J = 8.2, 5.8, 2.2, 1H), 3.35 (d, / = 10.8, 1H), 2.48
(m, 2H), 2.21 (dt, J = 14.1, 7.0, 1H), 1.76 (dq, J = 7.0, 2.1, 1H), 1.21 (d, J = 7.0, 3H),
1.06 (d, J=6.5,3H), 0.94 (d, J = 6.5, 3H); minor diastereomer:d 8.20 (d, J = 8.7, 2H),
7.64 (d, J=8.8,2H), 5.92 (m, 1H), 5.79 (s, 1H), 5.11 (m, 2H), 4.16 (dt, J=11.0, 4.6,
1H), 3.64 (dd, J =10.3, 2.4, 1H), 2.81 (ddd, J = 19.3, 11.5, 3.5, 1H), 2.31 (m, 2H), 1.93
(ddt, J=13.8,6.9,2.5, 1H), 1.08 (d, /= 6.9, 3H), 0.97 (d, /= 6.9, 3H), 0.83 (d, / =T7.1,
3H); "C NMR (125 MHz, CDCl,) major diastereomer: & 147.96, 145.9, 134.0, 127.1,
123.4,117.3,93.7, 86.7, 74.8, 37.0, 30.9, 26.0, 19.6, 19.2, 13.2; minor diastereomer: &
147.86, 146.2, 134.9, 127.0, 123.2, 116.9, 92.5, 81.2, 76.1, 34.1, 30.2, 28.8, 19.9, 14.6,
12.4; IR (thin film): 3077, 2966, 1642, 1609, 1524, 1348 cm™'; HRMS (CI+/NH;) m / z
calcd for C,;H,,NO, (M-H)" 304.1549, found 304.1550. Anal. Calcd for C,;H;;NO,: C,
66.86; H, 7.59. Found: C, 67.00; H, 7.71.



Tenenbaum and Woerpel S-15

Proof of Stereochemistry by DPFGSE-NOE data:

NO,

O/\O =

/;Pr)\;/?\/\
CHs
(2R*,4R*,55%*,6R*)-4-Allyl-5-methyl-6-(1-
methylethyl)-2-(4-nitrophenyl)-1,3-dioxane

H, irradiated: H, (3.5%)
H. irradiated: H, (2.5%)
H, (1.8%)

Note: To minimize unfavorable gauche and diaxial
interactions, the 1,3-dioxane adopts the above-pictured
conformer, leading to the observed NOEs. There was
no NOE observed between H, or H, and H,. If the 1,3-
cis diol were obtained, an NOE would be observed
between H,, H,, and H,. If the C5 methyl were
inverted, no NOE would be visible between H_ and H,.
(Mixing time was 0.5 s)
BnO PhySi-Q BnQ Ph,Si-Q OBn OH OH
' OEt — ™ ,p ’ N T : “
CHa CHa CHs

FPr

(3R*,4R* 5R*,75*)-3-benzyloxy-2,4-dimethyl-dec-9-ene-5,7-diol (22).” To a cooled
(=78 °C) solution of acetal 16 (0.97 g, 2.0 mmol) and allyltrimethylsilane (0.67 mL, 4.2
mmol) in 70 mL of toluene was added SnCl, (2.1 mL, 2.1 mmol, 1.0 M in CH,Cl,). After
the reaction mixture was stirred at —78 °C for 9 h, 20 mL of sodium bicarbonate
(saturated aqueous) was added. The reaction mixture was concentrated in vacuo. The
mixture was diluted with 100 mL of sodium potassium tartrate and 100 mL of CH,Cl,.
The organic layer was separated, and the aqueous layer was extracted with CH,Cl, (3 x
100 mL). The combined organic layers were dried over Na,SO,, filtered, and
concentrated in vacuo to give oxasilacyclopentane 21 as a 93:7 mixture of diastereomers
as determined by GCMS-EI. The oil was dissolved in 10.6 mL of 1:1 THF/MeOH. To
the solution was added KF (0.25 g, 4.3 mmol), KHCO, (0.50 g, 5.0 mmol), and H,0, (4.3
mL, 42 mmol, 30 % by weight in H,0). The reaction mixture was heated to reflux for 5

h. After the mixture was cooled to 22 °C, solid Na,S,0; (0.5 g) was added. After the



Tenenbaum and Woerpel S-16

mixture was stirred for 1 h, the mixture was filtered through Celite, and the filtrate was
washed with Et,O (3 X 75 mL). The solution was concentrated in vacuo. The resulting
oil was purified by flash column chromatography (10:90 to 20:80 EtOAc/hexanes) to
give the product as a pale yellow oil (0.360 g, 56% over two steps): 'H NMR (500 MHz,
CDCly) 6 7.35 (m, 4H), 7.29 (m, 1H), 5.82 (ddt, J = 18.0, 10.6, 7.1, 1H), 5.13 (m, 2H),
4.68(d,J=11.4,1H),4.62 (d,J=11.3, 1H), 4.00 (m, 1H), 3.91 (m, 1H), 3.46 (dd, J =
7.4,2.5,1H), 3.41 (brs, 1H), 2.73 (br s, 1H), 2.27 (t, J/ = 6.8, 2H), 1.94 (m, 2H), 1.68 (m,
2H), 1.07 (d, J = 6.7, 3H), 0.92 (d, J = 6.8, 3H), 0.88 (d, J = 7.0, 3H); "C NMR (125
MHz, CDCl,) & 138.7, 134.7, 128.4, 127.6, 127.4, 117.8, 85.4,73.9, 71.3, 68.2, 42.0,
39.8, 39.4, 30.5, 20.2, 19.6, 11.3; IR (thin film): 3384, 3067, 2960, 1641, 1069, 734 cm™;
HRMS (CI+/NH,) m / z calcd for C,,H;,0, (M+H)" 307.2273, found 307.2273. Anal.
Calcd for C,(H,,0;: C, 74.47; H, 9.87. Found: C, 74.36; H, 9.84.

References.

(D) Pangborn, A. B.; Giardello, M. A.; Grubbs, R. H.; Rosen, R. K. Organometallics
1996, 15, 1518.

(2) Ando, K. J. Org. Chem. 1997, 62, 1934-1939.

3) Tamao, K.; Nakajo, E.; Ito, Y. Tetrahedron 1988, 44, 3997-4007.

4) Tamao, K.; Kawachi, A.; Ito, Y. J. Am. Chem. Soc. 1992, 114, 3989-3990.

5) Proof of stereochemistry was accomplished by chemical correlation with
previously prepared 7-methyl-1-octene-4,6-diol. Bear, T. J.; Shaw, J. T.;
Woerpel, K. A. J. Org. Chem. 2002, 67, 2056-2064.

(6) Powell, S. A.; Tenenbaum, J. M.; Woerpel, K. A. J. Am. Chem. Soc. 2002, 124,

12648-12649.

7 Proof of stereochemistry was accomplished by chemical correlation with
previously prepared (3R*,4R* 5R*,7S*)-3-benzyloxy-2,4-dimethyl-dec-9-ene-
5,7-diol. Powell, S. A.; Tenenbaum, J. M.; Woerpel, K. A. J. Am. Chem. Soc.
2002, 724, 12648-12649.



Tenenbaum and Woerpel

B. GCMS and Spectral Data for Stereochemical Proofs
ya

Relative Abundance

g

/

RT: 443

™ @
3 § B2 88
HREYCUTA PERARTTN AU AT

£ 88 $ 2
Tieih Th

o
£

NI SN TR S SR T

o ®

»

b T

PN
COqEt
10

90 : 10 diastereoselectivity

RT:6.53
AATTI21273

AA: 2399968377

RT: 6.07

AA; 1278045

RY: 5588

RT: 538
AA: 1015331737

65 8.0 &5
Tima {min}

NL:
2.55E9
TIC MS
ICis
jmtsve

_113324

1005 972
3 114.2
907
807
70
607
E 142.0
50
40
2
! 1432
i 207.1 332.3 386.6 _478.3 5726 6323
o 971 =
73
63
HE
2 3
E 4-
3 o]
o ]
2]
oo 1074
E 1082
80
703
60
40
303
20
103 109.2
o 1103 207.1 281.1 354.9 483.8 551.3 624.5
1330 —
74
i 148.1
59.1
176.0
i ] -
2
\ 178.1
111792 2442 3440 415.0 534.3 601.7
e TS T T T T
100 200 400 500 600
m/z

S-17

jmt-v-

4304220084 _113324#110
RT: 4.41 AV: 1 NL: 22568
T: {0,0} + ¢ El det=349.00
Full ms [ 50.00-650.00]

jmt-y-
4304220064_113324#184
RT: 5.37 AV: 1NL: 1.82E7
T: {0.0} + c El det=348.00
Full ms { 50.00-650.00)

jmit-v-
4304220064_113324#233
RT; 6.06 AV: 1 NL: 2.14E8
T: {00} + ¢ El det=340.00
Fufl ms [ 50.00-650.00]

jmt-v-
4304220064_1133244274
AT: 6.53 AV: 1 NL: 1.86E8
T: {0,0} + ¢ El det=349.00
Full ms [ 50.00-650.00]



Tenenbaum and Woerpel S-18

A T s
ax ) N 262.9 jmt-v-
343E9 167 7306100037_171802#1535
Tkt: ] E RT: 22.78 AV: 1 NL: 3.76E7
jmt-v- 7l T: {00} + ¢ El det=349.00
7308100037 14
3 71902 b Full ms [ 50.00-650.00)
8 ]
12
ES ]
100+ 7
a5 “’E 154.1 4180
201 8]
a5 OBn SiPhyF ] 199.0
6]
80 P CO,Et ]
FPr b
75 : 4+ 339.0
70 CHz - ; b 419.1
2—
a5 12 ] J 420.1
99 - 1 diastereoselectivity o1 I, 4221 5508 614.7
60-{ 226.0 jmt-v-
g 83 7306100037_171902#1564
§ 55 = RT:23.15 AV:1NL: 1.98E7
g 3 T: {0,0} + ¢ El det=349.00
% 50 23 Full ms [ 50.00-650.00]
£ a5 1
g ]
T o § GE
35 § [
a0 3 3 303.0
2 47
25 . 1811
3 7
20 e 3
8 3 304.1
154 24
® ;% 3 1050
0 & @ E
s} % % R ag saes e Tig i 081 3824
3 [ 3y S3I% s == 4 3 383.1
8 2 3z sgxx g8 p 8 odtulil de | 1381 01 enrz
o 91.0 jmt-v-
1 7306100037_17190241762
RT:25.71 AV: 1 NL: 2.43E7
T: (0.0} + ¢ El det=349.00
Full ms [ 50.00-650.00]
100+ T
95 .
L]
90 * 201.0
85- 4
80
75 1410 | 9939
70~ 2471 3294
1
85~
Hsao.z 4491 4750 6230
60 jmtay-
7306100037_17190241813
55 RT:26.36 AV: 1 NL: 2.35E8
T: {0.0) + ¢ El det=349.00
50 Full ms [ 50.00-650.00]
451 ) ¢
40
35 .
304 :
25| ;
20
- .
i
10+ } \
MR 5283 8 53333359584\
NN NSRS & N33 I gLL N & N
B e L e e B e AL A B e e
23 2 25 26 27
Time {min)




Tenenbaum and Woerpel

S-19

-~
3 <o
. 5.5.8.8 8
_RT: 1971
AA: 3581845734

@
n

FPr

$.8.8.5%8833338382883%

b4

& ST TN,
» - - - iy - n »n N ) n w W 2 g g s .?’ : S S %
> Beh P 8. 5. 3.3 3 R B B8R EEESESESSERLEE.

=3

200
Time (min)

SiPhoF
CO,Et
CH3
13

90 : 10 diastereoselectivity

Relative

180.1,

2671

3011

3022
3031 4087

281.1

3151

281.1

2091
3151

A2

MNI2 4390 5381

563.5 612.8

6264

jmt-v-
3403310032_164940#1303
RT: 18.29 AV: 1 NL: 2.77E6
T: {0,0} + ¢ El det=349.00
Full ms [ 50.00-650.00]

jmit-v-
3403310032_164940#1336
RT: 19.71 AV:1NL; 1.81E8
T (0,0 + ¢ El det=349.00
Full ms [ 50.00-650.00]

Jmt-ve
3403310032_164940#1345.
AT: 19.83 AV: 1 NL: 2.60E7
T. (0,0} + ¢ El dot=349.00
Full ms { 50.00-650.00]

jmtev-
3403310032_164940#1403
RT: 20.68 AV: 1 NL:7.84E7
T: {0.0) + ¢ El det=349.00
Full me { 50.00-650.00)



Tenenbaum and Woerpel S-20

AT: 18.85 NL:

jmt-v-
AA: 470143949 2.2068 3804070002_121116#1203
TIC ME RT: 18.00 AV: 1 NL: 4.80E5
;:"li T:{0,0} + ¢ El det=349.00
360407002 Full ms { 50.00-650.00]
_121118
903
3 Ph,Si-0
NE OEt
843 FPr
827 . 14 jnt-v-
80 62 : 38 diastereoselectivity 3804070002_121116#1229
1 RT: 18.33 AV: 1 NL: 1.21€6
787 . T: {0.0} + ¢ El det=349.00
] FBusAlH Full ms [ 50.00-650.00)
2] 252 o990 4749 so73
B 2371 Jmt-y-
609 1 3804070002_121116#1260
E RT: 18.85 AV: 1 NL: 4.03E7
58 RAT:19.07 T: (0.0} + ¢ El dot=349.00
o] AA: 283648166 Full ms [ 50.00-650.00}

b4

Relativa Abundance
G
T YT T
Relative Abundance

183.1

& &

i

jmit=v-
3804070002_121116#1286
AT: 18.07 AV: 1 NL: 2.08ET
T: {00} + ¢ El det=349.00
Full ms [ 50.00-650.00]

0.
00
901
801
70
60~
50|
40
30
20
10

o

Sz
4&_
40
5
30
261
20
151
10~

.
o

jmit-v-

- . 3804070002 _121116#1302
RAT. 19.27 AV:1 NL: 3.04E6
T: {0,0} + ¢ El det=349.00
Ful ms [ 50.00-650.00)

v
'

18314
RT:19.29
25—3 AA: 167202918
267
o]
zz—f '

-

12}
10] \ .
& AT 18.33 . i
1 AN 23539503 . 3031
*]  Aneor  ATiese
AA: 19059488 AA: 1671837
4 : AT 1947 o no0 3021
Ax ga7es2r T B0 Il }398 4184 5117 6132

LSS SUELEL LI LA O B I o o
100 200
Time {min) mz




Tenenbaum and Woerpel

S-21

CAA 2774309757
o]
13

"_RT: 18.86

2 8 8

Ph,Si-O
FPr

8

oty

OEt

3

14

3 8

56 . 44 diastereoselectivit

4

[ATRNATEY SAy A
AA; 2218855028

RT: 19.08

LiBH,4

o«
L

38
N

858 £ 5888 ¢882R2F B3I
@ O N ] ~N @® N
llllillkllg{\lllIlllkll!lllllklllll|III?)Illlll'llllllllllllllI|III|III|‘1IIIIl?IIIlI}I'IIlI[x

©»
b
RT: 1829

AA: 926889032

w
1)

1
RT: 1801

o ® &

(SIS

Tt

19.0
Time {min}

Relative Abundance

n

183.1

jmt-v-
3604030052_11183241204
RT: 18.01 AV:1NL: 2,56E7
T: (0.0} + ¢ El det=349.00

199.1 Full ms [ 50.00-650.00]
204.1
282.1
i, \ 253'2, 3413 4888 622.8
237.1 jmt-v-
3604030052_111832#1268
RT: 18.84 AV: 1 NL: 4.66E7
227.1 T: {0,0} + ¢ El det=349.00
Full ms [ 50.06-650.00)
181.1
283.1

A

328.2 4172  5490.0 6232

jmt-v-
3604030052_111832#1285
RT: 16.056 AV: 1 NL: 2.61E7

2371 T: (0.0} + ¢ El d8t=349.00
Full ms { 50.00-650.00]
181,1. 2804
105.1
325.1
L1 %272 470 6350 s958
7.2 Jmitv-

3604030052_111832#1300
RT: 19.256 AV: 1 NL; 2.66E5

¥ T: {0,0} + ¢ E! det=349.00
Full ms { 50.00-650.00]

69.2

1822 2379

5490 6478
jmt-v-
3604030052_111832#1315
RT: 19.44 AV: 1 NL: 4.75E6
T: {0,0} + ¢ El dei=349.00
Full ms { 60.00-650.00)

183.1

2491

2502 3051

il 1352 3074 5177 6240
jmt-v-
3604030052_ 11183241530
RT; 22.21 AV: 1 NL; 2.86E5
T: {0.0} + ¢ El det=349.00
Full ms ( 50.00-650.60]

2081 2811
4749 5507 623.0



Tenenbaum and Woerpel S-22

NL: 183.1 JMT-V-
3.64E0 613 6305220032_163238#1286
TIC MS B RT: 19.07 AV: 1 NL: 8.94E7
2 it ] T2 {00} + ¢ EI dot=349.00
s b B -650.
a8 panbins 5] Full ms [ 50.00-650.00)
=2 183238 1
100 ' €2 ]
98] PhoSi—O 50 227
% £Pr OEt | 1
947 : I
923 CHs 1
907 ) 15 o 40-]
e 60 : 40 dliastereoselectivity | b
» 8 g 35
84 5 § ]
823 a3 § 3
Bl 2y 30+
80 T ]
] EX £
784 c'é 4
763 i 7 1811 | (e84
747 ]
723 . 207
H - ]
;g ]
i 1
§ %] 297.1
10| 105.0
‘ 5]
| o
183.1 IMT-V-
g g : 1003 6305220032_163238#1292
- E RT: 19.14 AV: 1 NL: 1.48E8
2 95 T: {0,0} + ¢ El det=349.00
< B Full ms [ 50.00-650.00)
H 907
% 3
o |
85—
§ 3
80
£ . E 2271
40 75;
38 70%
%63 E
3 : 65—
347 E
32 ; so}
* 553
-
267 i ]
243 : 45;
22 ] B
20 352 266.1
18 E
169 303 .
14 257 .
12 i 207 .
103 1050
= ~ Bt
s g 4 g ,, 107
E 3§ 2% ga 3 E
3 s £g =3 £ 3
249 3 T e 3
o _E2 A E3 - &% e
186 188 1940 100 200

Time (min)



Tenenbaum and Woerpel

S-23

RT: 24.80-26.81
NL: 91.1 jmteve
3.30E8 1 7506160054_112730#1723
g TIC MS RT: 2520 AV: 1 NL: 2.87E€7
:v:fv 1 T: {0,0} + ¢ El dat=349.00
3 7508160054 Full mg [ 50.00-650.00]
82 12730 2774 201
100- &3 187.0 o
95~ - 2651
50-| 105.0
L] R1.2
o5 ]
f; NPT 3851 50 e2m0
@ 267.1 jmt-v-
) 7506160054_112730¥1749
75 BnO Ph,Si—Q RT: 2554 AV: 1 NL: 1.74E8
R 911 T: (0.0} + ¢ E! det=349.00
™ . OEt Full ms [ 50.00-650.00]
e FPr
oo CHg
g ol 16 199.0
K % lectivit
gm_ 56 : 44 diastereosele 2082
; 1
45 268.1
i S a0 5490 e204
40 100 2270 jmt-v-
] 183.0 7506160054_112730#1779
35 ] 2670 RT: 2592 AV: 1 NL: 2.43E8
b T: {0,0} + ¢ ] det=349.00
30 %01 908 Full ms [ 50.00-650.00]
§m: 311.0
2w |914
20 363.0
= ol 9842 4312 5490 6201
NL: 910 jmt-v-
34367 7506160054_11273041784
mize RT:26.12 AV: 1 NL: 2.37E8
3825 T: (0,0} + ¢ El dat=349.00
3635 MS Full ms [ 50.00-650.00]
Jmibwe
7506160054,
12730

¢
24.96
25.02

25.13

Jes.9-,

25.26
25.34

2582

et SR TV

—

25.76

26.12

—

n

o
=)

3 2548
o |25.54

[

183.0

383.0

3042 4311 5490 6239
jmt-v-
7506160054 _11273041808
RAT: 26.30 AV: 1 NL: 8.61E7
T: 10,0} + G E1 dot=348.00
Fulk ms | 50.00-650.00)

jmi-v-
7506160054_112730#1823
RT: 26,49 AV: 1 NL: 1.86E7
T: {00} + ¢ El det=340.00
Full ms [ 50.00-65.00}

.




Tenenbaum and Woerpel S-24

GG A Y] a
. i RT: 19.34 NL: 183.1 JMT-V-
100 AA: 7456250048 22080 16 6206210008_102134#1203
E TIC MS ] RT: 18.00 AV: 1 NL:3.13E7 T:
o fﬁ_v_ . 10,0} + ¢ E) det=349.00 Full ms |
B 6205210008 10 50.00-650.00)
DOE 102134 1
WE Ph,Si-O 5
e /'-Pr’&) 2SN 3 IlL‘
3 ' . 183.1 JMT-V-
753 -7 . 21 8205210008_10213441267
B 99 : 1 diastereoselectivity 1990 RT: 18.82 AV: 1 NL: 1.04E7 T:
703 : 4 984 {0,0} + ¢ El det=349.00 Full ms [
3 50.00-650.00]
65 135.1
E 283.1
&0 , 771 105.1| 1670
. 2391 325.1
E 55: P L 1 h Ild nll l h i
E 183.1 JMT-V-
503 17 2271 6205210008_102134¥1285
2 3 AT: 19.05 AV: 1 NL: 3.40E6 T:
2 % 169.0 {0.0) + ¢ El dot=349.00 Ful ms [
LI 50.00-650.00]
407 J
357
- |
251 - K IMT-V-
E 6206210008_102134#1302
203 RT: 19.27 AV: 1NL: 3.94E7 T:
1 AT 1800 {0.0) + ¢ El det=349.00 Fuk ms |
15 AA: 579470030 RT: 19.57 50.00-650.00]
E RT: 18.05 AA: 696720547
105 AA:
] AT: 18.82
3 AA: 1968526273
& RT:18.91 °  po ye'e
E ke %A A
£ = : P
o < IMT-v-
19.34 6206210008_102134#1308
100 RT: 19.35 AV: 1 NL: 2.00E8 T:
3 (0,0} + c E det=349.00 Full ms |
953 50.00-650.00]
%0
85
eo—: L]
3 B JMT-y-
753 6205210008_10213441316-
] 1317 AT: 19.45-19.47 AV: 2
70 NL: 1.23E6 T: {00} + cEi
1 det=349.00 Full ms [
65 0.00-650.00]
60
55-]
] JMT-V-
507 6205210008_102134#1325
] RT: 19.57 AV: 1 NL: 4.55E7 T:
45+ . {0,0} + ¢ El d6t=349.00 Full ms |
E §0.00-650.00)
] -
E 105.0 141.0
354 R
50 .
25 JMT-V- i
] 6205210008_102134%1330
E RT: 19.63 AV: 1 NL,2.15E7 T:
204 {0,0} + ¢ El det=349.00 Full ms [
- 50.00-850.00]
1
;I l 105.0 141.0
v i
1
1798 1820 18.54 1863 18.82 18.88 j L/‘\?,-\‘g‘c;‘l_,?.i'f

e T T
18.0 185 18.0 195
Time {min}




Tenenbaum and Woerpel S-25

o
p— A
Jr—T
BrET|
S
BERT Y|
—m
Go0T|
T
=
YeroE|
00007 [
o
PR § [
N —r~
€298 L ———— — [
s
- L
[(—@
[ &
wdd . . w2




Tenenbaum and Woerpel S-26

OH OH
‘ ;pr)\/\/\
_ 18

wdd

wecnnn oo oo oo B boosoossroedbre o o booen s ssdbo oo e oo Do o

09t 081

ovt

02y

007

08

————n.7n

68.34

09

.
N

41.95

(14

38.93

33.76

02

——— 18,56
7.8




Tenenbaum and Woerpel

1 19:85 NL:
Ak ap1pesessz 2.50€0
TIC MS
jntve
_tea327
753 l .
3 Ph,Si-O
70 .
3 £Pr 'u/\
55__ z
E CH
e RO
E 55 91 : 9 diastereoselectivity
§ s
PE
| .
403
25%
207
1 RT:
15—: MA:
107
JAT: 19.36
1 A8 321701133

@ N oo @ $
& &
||||‘rnu?|1|AI1|||$|\|AIA|||

i

o
in
el

Time {min)

1831

'fllll‘fllllflllll_l_l?

' 199.0
1
1
1831
105.1
201.0
91
8
7]
§ elos
§ 51
i
{
4

2951

S-27

jnt-v-

5605270056_ 16432741309
RT: 19.36 AV: 1 NL: 1.36E7
T; (0,0} + ¢ Ef det=349.00
Full ms [ 50.00-650.00}

jmt-v-
BB805270056_164327#1320
RT: 19.62 AV: 1 NL: 3.59E7
T: (0,0} + ¢ E1 0et=349.00
Full ms [ 50.00-650.00}

3583 511.2
jmtv-
6605270056_164327#1333
RT: 19.67 AV: 1 NL: 2.20E7
T: (0,0} + ¢ El det=349.00
Full ms ( 50.00-650.00]

o
NL: 199.0 jmt-v-
2.31E8 100 2051 6605270056_1643274#1347
iz E RT: 19.85 AV: 1 NL: 2.43€8
204.5- 0] v T:{0,0} + ¢ El det=348.00
2055 MS B Ful ms [ 50.00-650.00)
6605270056 4
_164327 60-
] 1744
40+ 2510
4 1050 2062
207
E 2972
o] 397.1 491.3 5485
190.0 jmt=y-
2 281.1 6605270056_16432741366
2 AT: 20.10 AV: 1 NL: 5.56E6
ol T: (0,0} + ¢ El det=349.00
] N Full ms [ §0.00-850.00)
153
10]
’ 087 2822
§ ]
E B2 450 5220 012
0.0- 1) jmt-v-
: 8605270056_16432741372
RT:20.18 AV: 1 NL: 1.33E7
T: (0,0} + ¢ El dot=349.00
1831 Full ms [ 50.00-650:00]
i " | 269 :
“ 1811 -
282.2
1 A
Wl . w2 401.0 5652 6248
LI e O M A R
100 200 300 400 . 500 600
miz



Tenenbaum and Woerpel S-28

2100070 - 7 _— o
L
L
oy ) ——=
=at6" ——FEFEp
s p— N
1€496°0 L
€6£02°F F
28210°s L
AR’ —
F¥6E8°} 0
25268° —_—
F1062° )
w;z‘e§§ I
WREE _ ]
s — i
e ;“\—\ (173 o
arese e —_— 1
20062 L
202t '2
WIED ¢ | o0 |
aamee—" =Y e T
—m
y -
erizEE : =+
ErheeE—— L1
OH OH P F
seee'e )\/\/\ S e
. P " T}
£Pr Y X F
CHs L
20 N
N L
A -
e L
HE”'E&_ [
B —_— L
0%E1 5 # v
et . e
1691 °G 4 L
B i
LEwL S ) -
96C18°C- ' ﬂ\_—
;m.-;& N T
seosrs—" —
—w
- \ [
.
Lk
oz — o
b
- L
A | -
[—
K =
[ =
-
wsd . et




Tenenbaum and Woerpel

€11

el

|

¥ 61

't

L9
0L
oLt
s

iV

& —

B2 GET

OH OH

FPr
~ CHs

20

wdo

S-29

T T T T T T T T Ty T T e T T T O T T T oy o o o T T e T i
160 140 120 100 80 60 40 20 1]

T T T T T T T T O T T T T T

180

LARLL AL E AR LR LR AR

ppm




Tenenbaum and Woerpel S-30

011 267.1 imt-y-
: 10307080039_173923#3323
RT: 45.83 AV: 1 NL: 3.68E7
T: {0,0} + ¢ E) det=340.00
2 N 070800 Ful ms [ 50.00-650.00]
T8 9_173823
b
1 £3 .
E
El
86
94}
92
903 1 189.0
88 !
86 '
84 k
82 v
80-]
e BnO PhySi—O
76-]
Ey A 1
™ 415.0 549.0 623.0
723 H e
] C 3 10307080039_173823#3421
705 21 RT: 47.09 AV: 1 NL: 1.02E8
E o . T: {0,0) + c El dot=349.00
68 93 : 7 diastereoselectivity Full ms [ 50.00-650.00]

Relative Abundance
2885508858588 3888

jmt-v-
10307080039_173923#3431
e - RAT: 47.22 AV: 1 NL: B.OTE6
a2 T: {0} + ¢ El det=349.00
] 704 Full ms [ 50.00-650.00]
e 6.5+
283
] 6.0
26
h 5.5
2¢:]
23 ¢ 1990
] 45 i
18] 40+
183 3.5 ,
3 :
143 3.0+ :
12; 2.5 .
103
3 20
8]
E! 1.5+
&3
E 1.0+
4
23 0.5
et 0.0~
46.0 465 47.0 475 100 200 300 400 500 600

1:h|e (min) miz




Tenenbaum and Woerpel

e

£6669°

g

9°2BIE

z
i

8
2

BEPEL T

958PFE:

FEGOFE:

EASES
19SS

268YL
£606. %
L9L6L %
22508 °%-
YGEIB'S
1GE2B"G:
GELeR' G-
PIEER G
£1L60°G
65r0°G
EBEGR'G:

7
EDII'E§

OBn OH OH

FPr
CHg
22 s

.
i
i =
i

T
ppm

(Xt



Tenenbaum and Woerpel S-32

¥R

"

V1

FEEE T T AT

N

"

)

OBn OH OH
£Pr A

: CHg
22 ¢




Tenenbaum and Woerpel S-33

ELIB'

W[

oz’ 2

60662°2

960162 L
€02

(333 —_ [
e 2 o
6LE2r°2 L
rieErg -
2026r°2 "
cogar2 B
2082 . =
rooer - 2- c ———r|
lgra : — W
9955¢ "2 3
U9 J B T T

SEGLET2

NO2

FLETEE:
TBLLL 2

FicH

!

:

ESIYEE:

§
2
i

m

i
3
T

H

OOBET ' b-

2
8
Hpcie i ]

™T

EGEED £
ey

0RO
(NBI!’L—/_ A

o681 €
L0902 ———=
oggzza—"

.
ppm

L]




Tenenbaum and Woerpel S-34

NO,

BLWE

1S >
vese .

ov st ?

se it 3

i~

01— L ad
3 E
59°88 E
[ — E
ELEG ——— = E

F o

—o

e
\' % E
0O —— F
v —— E

Fo

]

g2 Eer E ™
€ €25 E
ro L2} £
I — E
56 EEF-m——m . E
66 PEF———" £

E £

F =
%°Gr- r
av o —_—— E
98° v} E
96 vt E
i‘ E

C o

e
1 o

Fo

. o
t E

3

[

Fa

a




